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A DSAHS D

M. AQIOl 0lE256t)] st NotEHE (5L US/TANETD)

SOl AA-BA BHHE A CER-E
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
WS A 15,972,293 6,256,287 9,716,006

= 0
ES 510,000
Al 15,462,293
AlQIOl Ol=Zot)| ®Be2ldt XolEHE (5L NS /AR 5,745,000 5,960 5,739,040
<)
DA-EA SHEE ALY 1,845,000 0 1,845,000
AN HEZEL P X MY 1,845,000 0 1,845,000
402 Q124 =01M 1,845,000 0 1,845,000
03 QI2tCHE AF HI 1,845,000 0 1,845,000
= 0l & 1,845,000 0 1,845,000
O4AS YEEUD 87 223
9,000,000,000& *20.5% 1,845,000
L2A-U= SHEEE A Y 3,900,000 0 3,900,000
DA-UIE 2 SEXEE AL 3,900,000 0 3,900,000
308 XXESHXMSOIH 3,900,000 0 3,900,000
11 JIEtRY=3 3,900,000 0 3,900,000
= 0l & 3,900,000 0 3,900,000
OALAN~U= SHFE AIH 2E201xE
) 3,900,000,000& 3,900,000
EMJAD oS NS&E T4 (3L NS/HELS 1,543,500 160,000 1,383,500
S8 SIIE)
= 0
ES 510,000
Al 1,033,500
WSMA M ALY 760,720 110,000 650,720
= 0
S 510,000
Al 250,720
HelolE3 29U WXtz &e2l0l &X 90,000 30,000 60,000
401 Al&HIZ 20| 90,000 30,000 60,000
01 AI&EHI 90,000 30,000 60,000
= 0l & 90,000 30,000 60,000
OelolEs729 U uxtz eliol XAt
o 15,000, 000& *6IH A~ 90,000
ECEE B ord 84 CHHAIAE AX 20,000 0 20,000
401 Al&HIZ 20U 20,000 0 20,000
01 Al&HI 20,000 0 20,000




A DSAHS D

M ANYD SN DESY ZH(FESUDE/WSDE - SRSVIE)
chel: WEHA HEALS (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 20,000 0 20,000
OaHEE B o+d S 4 HLHAIAE
=N 20,000, 0003 * 1 2~ 20,000
H0l=ssw =Y HAALS 60,000 0 60,000
401 A&BIZ=2U8I 60,000 0 60,000
01 Al&HI 60,000 0 60,000
= 0ff & 60,000 0 60,000
Od0=sstn st=H WSIHE AL
60,000,000& 60,000
AZSAAIHE WSIHE A 80,720 0 80,720
401 A&BIZ =208 80,720 0 80,720
01 Al&HI 80,000 0 80,000
= 0l & 80,000 0 80,000
ONdSAHE WSHEA 80,000,000& 80,000
03 AlI&=20HYI 720 0 720
= 0l & 720 0 720
ONdSAHE WESHEA
80,000, 000& *0.9% 720
BHE =8 AFDEX AIAE 2= 510,000 0 510,000
S 0
x 510,000
401 A&BIZ =208 510,000 0 510,000
S 0
S 510,000
01 Al&UI 510,000 0 510,000
s 0
X 510,000
=313 ( 510,000) | ( 0)] ( 510,000)
(= 0] 0]« 0
(= 510,000) | ( 0)] ( 510,000)
OHE =Y ADYX AIA"E 2=
510,000,000& |( 510,000) | ( 0)] ( 510,000)
(= 0] 0]« )
(= 510,000) | ( 0)] ( 510,000)
wEA3I| XA 703,780 50,000 653,780
WSHNSHH J=2gd 849 100,000 50,000 50,000
401 Al&HI 2208 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000




2N DSAS B
FM: AMYD HEE NEHAE ZH(>SLUE/UHELUE - ERSIIE
el wsSaASI| AXAMY (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 100,000 50,000 50,000
OWSASHAH JI=2Z =2 100,000,000 100,000
FREZ MSXsa AAE AX 603,780 0 603,780
401 AIZBIZ =208l 603,780 0 603,780
01 Al&HI 600,000 0 600,000
= 0l & 600,000 0 600,000
OFE=2 MSAss AlIAE AX]
600,000,000& 600,000
03 Al&=CHHI 3,780 0 3,780
=0f &t 3,780 0 3,780
FeEz Mstss AlIAE AX
600,000, 000& *0.63% 3,780
otMst nsad 29 79,000 0 79,000
ANEIsnEsFLEAE =8 79,000 0 79,000
207 A 79,000 0 79,000
01 =49l 79,000 0 79,000
= 0l & 79,000 0 79,000
OX#lls NEsEScLdHE 229
79,000,000& 79,000
Hels 232 (2 ELTNAMLE/NALZAl) 266,114 0 266,114
2z zte] 266,114 0 266, 114
ZEANE S 2e 266,114 0 266,114
201 LBt 12,414 0 12,414
01 At 2eltl 980 0 980
=313 ( 980) | ( 0)] ( 980)
OZZSYNDARS Y 4T
70,0003 *7E *23] | ( 980) | ( 0)] ( 980)
02 =524l 11,434 0 11,434
= 0l & 10, 181 0 10, 181
ORAMNZRZE HII2S 8,963
= 6, 1602 x93kw*12& 6,875
— A 1203 *58kw*5 Al 2+ *603] 2,088
O=RFMZTZE It 2 +=2
101,420 «12& 1,218
=213 ( 11,434) | ( 10,181) ] ( 1,253)
ORHMNFRZE HIIRS ( 10,216) | ( 8,963) | ( 1,253)
— dHAZ 1203 *58kw*6 Al 2+ *x803] | ( 3,341) [ ( 2,088) | ( 1,253)
203 YR F&H| 1,900 0 1,900




EX: WEAISE I}
Mz Helst ZHH(ZELXNENY /NS L AL
S Z&E2e (e &
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
03 AEZ=ASRE=AH| 1,900 0 1,900
= 0f 1,900 0 1,900
OANBIZOE BERRIE A 22 X2
1,900,000 1,900
401 AlEHIZL20H] 251,800 0 251,800
01 Al&H| 250,000 0 250,000
= 0l & 50,000 0 50,000
OZEANEZ S22l 50,000, 000& 50,000
=413 ( 250,000) 50,000) 200,000)
OZEANEZ S22l 250,000,000¢ |( 250,000) 50,000) 200,000)
03 AIES0Hb] 1,800 0 1,800
20 A 540 0 540
OFHANEEZE g2l
50,000, 000& *1.08% 540
=&13 ( 1,800) 540) 1,260)
OFHANEE FA22 I
250,000,000 *0.72% | ( 1,800) 540) 1,260)
HES2HAL(RSE ) (IIEH/DIEL 117,679 182,197 N64,518
ol 2 A 60,819 47 547 13,272
olat oy 60,819 47,547 13,272
101 ol 4| 59,379 47,547 11,832
02 JIEtEE 59,379 47,547 11,832
= 0l & 55,512 47,547 7,965
ORDIX P MBS NSIHEAMY A2t A
JI Ml el 24 H] 41,106
Pl =t=1 2,705,660& 128 32,468
—IIEx=g 80,000& 128 960
— NESHHIEX =S 465,330 x 19 *43| 1,862
— A EXIH| 105,000& *35/40%12& 1,103
— HHZAH| 130, 000& ~12& 1,560
— D8 At
2,705,6603 *84%*86%*1/30x1/7x56 Al 2+ 522
—XZU=2FY 7,829 x1H x28A| 2tx12& 2,631
OQ0IXT MEEDENSHAIS AlIZFHHENH
M E8= 4,220
—=0AH3 41,106,000 *45/1,000 1,850
—2ALE2E 41,106,000 *30.6/1,000 1,258
— Lo RUBE
1,258,000& *x65.5/1,000 83
- 18828 41,106,000& *x15/1,000 617




EX: WEAISE I}
HM: HY2HAAH (DS E =) (IIEH/DIIEH
S "2 (CHe &)
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
— MHEE 41,106,000 «10/1,000 412
OQDIK T MEDENSAIS AlZHHEH
IHSsS23 E83
113,170 *302 «1,095/365 10, 186
=213 ( 59,379) 55,512) 3,867)
ORDIX TP MSNSIHEAMY AlZtSE T
JI Ml el 4] ( 44 ,973) 41,106) 3,867)
Pl ==1 2,898,410 122 |( 34,781) 32,468) 2,313)
—E4LX2xG(2t2) 129,470 x 128 | ( 1,554) 0) 1,554)
202 044l 1,440 0 1,440
01 2Ll 1,440 0 1,440
= Ol & 1,440 0 1,440
OQ0IXF MEDESINSHAIS AlIZHEEIH
JIH &0 120,000 *1H x12& 1,440
| 2 Z& bl 56,860 134,650 ANTT,790
Jl23Hl 56,860 96,370 AN 39,510
201 AE2 A Y| 25,300 52,250 N 26,950
01 Ar®2te2lbl 21,600 25,920 N4,320
= 0l & 19,440 25,920 N 6,480
ORBASYII=2EH 19,440
— 2 Ht=2H| 40,0002 x18H x12& 8,640
— 24l 50,000& x18H = 12& 10,800
SAHSO0IA ( 21,600) 19,440) 2,160)
02 =324l 3,700 26,330 N 22,630
= 0l & 3,700 26,330 N 22,630
OZ2Z22=2HA 700
2SN XS IHA 260,000 260
— 2B 282 300,000& 300
— 28X BIENEREES 140,000 140
Oo&sSxg Xl 3,000,000 3,000
202 0| 27,360 33,120 N5,760
01 2L 27,360 33,120 N5,760
= 0l & 24,480 33,120 N 8,640
Og22=&I20l 120,000& *17H = 12& 24,480
SHSOIA ( 27,360) 24,480) 2,880)
203 Y=l 4,200 4,200 0
04 BASRYSETY| 4,200 4,200 0
=0 4 4,200 4,200 0
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